

Решение к П 1

$$1) f = \frac{\operatorname{sh}(\cos(\sqrt[3]{x^2+1}))}{\log(2x+e)}, \quad f'(x) = \frac{\cosh(\cos(\sqrt[3]{x^2+1})) \cdot (-\sin(\sqrt[3]{x^2+1})) \cdot \frac{1}{3}(x^2+1)^{-\frac{2}{3}} \cdot 2x}{\log^2(2x+e)}$$

$$+ \operatorname{sh}(\cos(\sqrt[3]{x^2+1})) \left( \frac{-1}{\log^2(2x+e)} \right) \cdot \frac{1}{2x+e} \cdot 2$$

$$f'(0) = \frac{\cosh(\cos(1)) \cdot (-\sin(1)) \cdot \frac{2}{3} \cdot 1 \cdot 0}{\log^2 e} + \operatorname{sh}(\cos(1)) \left( \frac{-1}{\log^2 e} \right) \cdot \frac{2}{e}$$

$$= \operatorname{sh}(\cos(1)) \left( -\frac{2}{e} \right) = -\frac{2 \operatorname{sh}(\cos(1))}{e}$$

$$2) C_{2n}^n < 2^{2n-2} \text{ при } n \geq 5?$$

$$\text{Базис: } C_{10}^5 < 2^{10-2} \Leftrightarrow \frac{10!}{((5)!)^2} < 2^8 \Leftrightarrow \frac{6 \cdot 7 \cdot 8 \cdot 9 \cdot 10}{2 \cdot 3 \cdot 4 \cdot 5} < 2^8$$

$$\Leftrightarrow \frac{7 \cdot 7 \cdot 9 \cdot 8}{2 \cdot 3 \cdot 4 \cdot 5} < 2^3 \Leftrightarrow 7 \cdot 9 < 16 - \text{OK}$$

$$\text{Далее: } C_{2(n+1)}^{n+1} < 2^{2(n+1)-2} \Leftrightarrow \frac{(2n+2)!}{((n+1)!)^2} < 4 \cdot 2^{2n-2} \Leftrightarrow \frac{(n+2)(n+1)}{(n+1)^2} < 2$$

$$< 4 \cdot 2^{2n-2} \Leftrightarrow \frac{(2n+2)(2n+1)}{(n+1)^2} < 4 \Leftrightarrow \frac{2(2n+1)}{n+1} < 4 \Leftrightarrow \frac{2n+1}{n+1} < 2$$

$$\Leftrightarrow 2n+1 < 2n+2 - \text{OK}$$

$$3) \frac{\sin x + \lg x}{f} \geq \frac{2x}{g}, \quad x \in (0, \frac{\pi}{2}); \quad f(0) = g(0) = 0,$$

$$f' \geq g' \Leftrightarrow \cos x + \frac{1}{\cos^2 x} \geq 2 = g'(x) \Leftrightarrow \text{OK}$$

$$\left( x + \frac{1}{x} \geq 2 \quad \forall x \in (0, \infty) \text{ т.к. } x^2 - 2x + 1 = (x-1)^2 \geq 0 \right)$$

$$4) \lim_{n \rightarrow \infty} n \operatorname{tg} \frac{1}{n} \sqrt{4+2^{-n}} = 2, \text{ укажем } N(\varepsilon)$$

$$\frac{n \sin \frac{1}{n}}{\cos \frac{1}{n}} \sim n \sin \frac{1}{n} \rightarrow 1$$

$$\left| n \operatorname{tg} \frac{1}{n} \sqrt{4+2^{-n}} - 2 \right| < \varepsilon \Leftrightarrow \left| n \operatorname{tg} \frac{1}{n} - 1 \right| \left| \sqrt{4+2^{-n}} + \sqrt{4+2^{-n}} - 2 \right| < \varepsilon$$

$$\Leftrightarrow 4 \left| n \operatorname{tg} \frac{1}{n} - 1 \right| + \frac{|4+2^{-n} - 4|}{\sqrt{4+2^{-n}} + 2} < \varepsilon \Leftrightarrow 4 \left| \frac{\operatorname{tg} \frac{1}{n} - \operatorname{tg} 0}{\frac{1}{n} - 0} - 1 \right| + 2^{-n} < \varepsilon$$

$$\Leftarrow \left| \frac{3}{\cos^2 x_n} - 1 \right| + 2^{-n} < \varepsilon \Leftarrow \frac{\sin^2 x_n}{\cos^2 x_n} + 2^{-n} < \varepsilon \Leftarrow \left[ \begin{array}{l} \cos^2 x_n \geq \cos^2 \frac{1}{n} \\ \sin^2 x_n \leq \frac{3}{n^2} \end{array} \right]$$

т. Лазаревича,  $x_n \in [0, \frac{1}{n}]$

$$\Leftarrow \frac{1}{n^2} \cdot \frac{1}{\cos^2 \frac{1}{n}} + 2^{-n} < \varepsilon \Leftarrow \left[ \cos^2 \frac{1}{n} > \cos^2 1 \right] \Leftarrow \frac{1}{n^2 \cos^2 1} + 2^{-n} < \varepsilon$$

$$\Leftarrow [\text{непр. по Бернулли}] \Leftarrow \frac{1}{n^2 \cos^2 1} + \frac{1}{n} < \varepsilon \Leftarrow$$

$$\Leftarrow \frac{1}{n} \left( \frac{1}{\cos^2 1} + 1 \right) < \varepsilon, \quad N(\varepsilon) := \left[ \left( \frac{1}{\cos^2 1} + 1 \right) \frac{1}{\varepsilon} \right]$$

5)  $e^{x^2 \cos^2 x}$  по  $\alpha(x^k)$ :  $\cos x = 1 - \frac{x^2}{2!} + \frac{x^4}{4!} + O(x^6)$   
 $\cos^2 x = \left( 1 - \frac{x^2}{2!} + \frac{x^4}{4!} + O(x^6) \right)^2 = 1 + \frac{x^4}{(2!)^2} + \frac{(-2x^6)}{2! \cdot 4!} + \frac{2x^4}{4!} + \frac{(-2x^6)}{2!} + O(x^6)$

$$x^2 \cos^2 x = x^2 - x^4 + \left( \frac{1}{4} + \frac{1}{12} \right) x^6 + O(x^8)$$

$$= x^2 - x^4 + \frac{x^6}{3} + O(x^8)$$

$$e^{x^2 \cos^2 x} = 1 + \left( x^2 - x^4 + \frac{x^6}{3} + O(x^8) \right) + \frac{\left( x^2 - x^4 + \frac{x^6}{3} + O(x^8) \right)^2}{2!} + \frac{x^6}{3!} + O(x^8)$$

$$= 1 + x^2 - x^4 + \frac{x^6}{3} + \frac{x^4}{2!} - \frac{2x^6}{2!} + \frac{x^6}{3!} + O(x^8)$$

$$= 1 + x^2 + x^4 \left( -1 + \frac{1}{2} \right) + x^6 \left( \frac{1}{3} - 1 + \frac{1}{6} \right) + O(x^8)$$

$$= 1 + x^2 - \frac{x^4}{2} - \frac{x^6}{2} + O(x^8)$$

6)  $\lim_{x \rightarrow 0} \left( \operatorname{sh}(\sqrt{4+x^2}-2) - \sin(\sqrt{4+x^2}-2) \right) \cdot \left( 2 + (4x)^{-3} \right)^2 \stackrel{\text{He4}}{=} \lim_{\tilde{x} = \frac{x}{2}} \left( \operatorname{sh}(\tilde{x}-2) - \sin(\tilde{x}-2) \right) \cdot \left( 2 + (4\tilde{x})^{-3} \right)^2$

$$\sqrt{4+x^2}-2 = 2 \left( \sqrt{1+\frac{x^2}{4}} - 1 \right) \stackrel{\text{He4}}{=} 2 \left( \frac{\tilde{x}^2}{2} - \frac{\tilde{x}^4}{8} + \frac{\tilde{x}^6}{16} + O(\tilde{x}^8) \right) = \tilde{x}^2 - \frac{\tilde{x}^4}{4} + \frac{\tilde{x}^6}{8} + O(\tilde{x}^8)$$

$$\operatorname{sh} x = \frac{e^x - e^{-x}}{2} = \frac{(1+x+\frac{x^2}{2}+\frac{x^3}{6}+O(x^4)) - (1-x+\frac{x^2}{2}-\frac{x^3}{6}+O(x^4))}{2} = x + \frac{x^3}{6} + O(x^5)$$

$$\sin x = x - \frac{x^3}{3!} + O(x^5) \Rightarrow \operatorname{sh} x - \sin x = \frac{2x^3}{6} + O(x^5) = \frac{x^3}{3} + O(x^5)$$

$$\operatorname{sh}(\sqrt{4+x^2}-2) - \sin(\sqrt{4+x^2}-2) = \frac{(\sqrt{4+x^2}-2)^3}{3} + O((\sqrt{4+x^2}-2)^5) = \frac{\tilde{x}^6}{3} + O(\tilde{x}^{10})$$

$$\stackrel{\text{He4}}{=} \lim_{\tilde{x} \rightarrow 0} \frac{\tilde{x}^6}{3} \cdot \left( 2 + \frac{1}{4^3 \tilde{x}^3} \right)^2 = \frac{1}{3 \cdot 2^{12} \cdot 2^6} = \frac{1}{3 \cdot 2^{18}}$$